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Master of Arts (Economics) 3rd Semester
(1129)

MACRO ECONOMICS-I (In All Mediums)
Paper—MAECO-301

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt any FIVE questions in all. Question No. 1 is
compulsory and select ONE question from each of the
Units.

1. Answer any ten of the following in about 25-30 words
each :—

(i) Relative income hypothesis

(ii) Demonstration effect

(iii) Consumption under uncertainty

(iv) Ratchet effect

(v) Determinants of expected profitability

(vi) Animal spirit
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(vii) Induced investment

(viii)Neoclassical theory of investment

(ix) Money

(x) Baumol's demand for money

(xi) Liquidity trap

(xii) Determinants of money supply

(xiii) Money market

(xiv) Shifting of IS curve

(xv) Credit creation. 10x2-20

UNIT—I

2. What do you mean by absolute income hypothesis ? What are

the subjective and objective determinants of consumption

according to Keynes ? 15

3. Critically evaluate Friedman's permanent income hypothesis.

15

UNIT—H

4. Write a note on acceleration theory of investment. 15

5. Write a note on Keynesian theory of investment. What are the

determinants of prospective yield according Keynes ? 15
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UNIT—HI

6. Write a note on high powered money and money multiplier.

15

7. Write a note on classical quantity theory of money. How it is

different from permanent income hypothesis ? 15

UNIT—IV

8. Explain the derivation and properties of IS-LM curves open
economic framework. 15

9. Discuss the role of monetary and fiscal policy in determination

of equilibrium in money and product market. 15

1 . PlHlelR=ld ^f ^ f^t ^F ^T TrTT 25-30

(i)

(ii)

(iii)

(iv)

(v)
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(vi)

(vii)

(ix)

(x)

(xi)

(xii) gsr

(xiv

(xv)

2.

3.

4.

5. Rl^ld

10x2=20

15

15

15

15
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6.

7.

.

8.

9.

affr

— iv

15

15

15

15

1 . 5TT

(i)

(ii)

(iii)

(iv)

(v)

(vi)

f^B1 ?5 UrT
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25-30

(Ratchet)
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(vii)

(viii) f?)%H tT" S^-J

(ix) H

(x)

(xi)

(xii) HFcF »fyH3t

(xiii) HFH1 a'tl'd

(xiv) IS ?oTH H1"

(XV)

H3T

dU'dot

10x2-20

5ft

oft 37? ? 15

4. fey

15

15

PrSdU'do! oft U?> ? 15
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